Foundations and Pre-Calculus 10

Chapter 6 Group Review Name 'XZQ,\J

1. Determine the domain and range of the following (using inequalities and interval notation)
and state whether or not it is a function.
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2. Use the graph to the right. ' i ;m\/
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C. Find f(1) x=1, y=3 ’

D. Find f(-5) x= 5 j: -
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3. If f(x)=3x+2, find the value of x when f(x)=17
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4. State whether or not each of the following is a function or not and explain.
A. Multiply the number by 8 and add 3.
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5. Determine the domain and range for the following graph.
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Range:_\y = $2,59%
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6. Water is draining from a full 4620 L tank at 4620
the rate of 55 L per hour. Which of the -
following can be used to describe the =
volume, V, over time, t, in hours? L 2
(there may be more than one) :..;'
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7. The profit, P, in dollars, made form a dance is given by the formula P(r) = 5n-800,

where 7 is the number of students attending the dance.
A. What is the domain of the function?

n 75 the g0t of winole oumiesS
ZOI ‘PZI%/ x c} (’\’\(\ﬁ Mo . of students S not lﬂduCQdd

B. What is the profit if 300 people attend the dance?
N=300 P (200)=5(300) ~B0O
= \S00 — O

2 (300)= 760
Dt 15 4700

C. What is meant by P(190) ? ) Aouhen
Do wsran 190 studed adiend do

8. Which ordered pair represents f (3) = —

A. (=53) £60
B. (—3.5) x=%, Y=
(3,—-5)

C(5,-3)
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9. What is the cost of hiring an electrician for 8 hours?

A, $550
@‘ $475
C. $400
D. $275
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C=475

Cost of Hiring an
Electrician vs. Time
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10. Marbles are placed in a jar one at a time. Which graph below best represents the total mass of the

jar and marbles as the marbles are added?
A.
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11. The graph shows the relationship between the amount of gasoline remaining in a S0L tank and

the distance driven for a certain car. . . ) .
. Amount of Gasoline Remaining vs. Distance Drven
What does the x intercept represent
in this situation?? 60 -+
A. Fuel capacity of the gasoline tank
B. Total distance travelled during a
long trip
Total distance driven until the car
is out of gas
D. Number of kilometres driven per
litre of gasoline

Volume (L)
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Distance (km)
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12. A helicopter is travelling toward its destination.

. Time (min) Distance from
a) Identify the dependent variable: JUStonce Destination (mi.)
0 283 -4l
b) Identify the independent variable: tnag_ x 20 ig :‘;gg 1) ~41
5 2-
c¢) Use the table of values to determine whether the 8 go igf’f 2 ~4|
relation is linear. \Je5 - e 15 cond
d) Determine the rate of change. N ' N
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What does the rate of change represent?

Opesd.. Troweling towosds destitadion = 2,05 miles

e

Assume the helicopter continues to travel at the same speed. How many more minutes will it
take the helicopter to reach its destination? Give your answer to the nearest minute.

Q= 32FS - .05 ™
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13. The following graph represents the cost of hiring a plumber to fix your leaky sink
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What hourly rate does the plumber charge? Answer to the nearest dollar.
foke = chonge in Codr ,m - j%o/
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14. The total cost, C dollars, of a wedding reception dinner is represented by the function
C(m) = 100 + 30n, where n represents the number of guests.
a) In this function, what does the 100 represent?

[0l cost
b) In this function, what does the 30 represent?

830 /persor  (rake)

Challenge Yourself:

13. If f(x)=6x"-2x+1,find fB3x—1)
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